Copying of this Document, and giving it to others and the use of Rev. No. Rev.-Doc.-No. Date Name
communication of the contents thereof, are forbidden without
express authority. Offenders are liable to the payment of
patentorhe reisration o iy mode or design For information
Date Name Description
e Drawn ___ [18.032013___|Dom, C. Antrieb fuer X-Blende
Checked
GSI Gesellschaft fiir Schwerionenforschung mbH Approved Drawing No. Rev.
Planckstrasse 1, 64291 Darmstadt STD-000-L01.601.000 -
Prev.Dwg. DL 520.000.000A Repl. for
ltem Qty. Description Drawing No. Size (fE: i’::gjigzz) Sojtcae”gf;i; oy Material Remark
1 1 Membranbalg Hub 10 STD-000-L01.602.000 (-)
2| 1 |Kupplung STD-000-L01.653.000 (-)
3
4 1 Motorhalter fuer Hub 10 STD-000-L01.601.001 (-) A3 |34x52x106 AlICuMg1F40
5 1 Kupplungsstueck STD-000-L01.651.007 (-) A4 [SW8x39 164)301 (X5CrNi18-
6
7 1 Zylinderschraube M5x30 1ISO 4762 8.8 verzinkt
8 6 Zylinderschraube M4x25 1ISO 4762 104 verzinkt
9 4 Zylinderschraube M4x10 1ISO 4762 8.8 verzinkt
10
11 2 |Scheibe 5,4 ISO 7089 St verzinkt
12 6 |Scheibe 24,3 ISO 7089 St verzinkt
13 1 Sechskantmutter M5 1ISO 4032 8 verzinkt
14 6 |Sechskantmutter M4 1ISO 4032 10 verzinkt
15
16 1 DC-Mike-Drive M222-20 Fa. PI

Sheet 1 of 1



